Ranching without Iron and Oil: Why grazing is a better way





















How efficient is your nutrient cycling ?

Basic ingredients for making meat, milk, and fiber: Solar energy Vater Solar energy Vater Solar energy Managing these resources is the only source of new wealth in ranching





















HAY	PRODUCTION COSTS:					
	Acres of hay	100	acres			
	Expected yield:	2	Ton/acre			
	Number of harvests	1				
	Weight of bales:	1200 200	lb/bale			
	Total hay produced		tons			
	Bales / acre	3				
						Cost/acre
	Land rental or stand	ard fee				\$60.00
	Hay field establishm	ent				\$16.98
	Maintenance fertilizer					
		COST/LB	REMOVAL	APPLY?		\$16.27
	N	\$0.55	50	0.5	\$13.75	
	P	\$0.42	12	0.5	\$2.52	
	к	\$0.45	45	0	\$0.00	
	Spreading cost	\$6.00		0	\$0.00	<
			operation		operation	
	Mowing or Swathing Raking Small square bale Small square bale handling		\$12.00	/A	1	\$12.00
			\$5.00	/A	1	\$5.00
			\$0.60	/bale	0	\$0.00
			\$0.60	/bale	0	\$0.00
	Large round bale		\$9.00	/bale	1	\$30.00

Maybe this is a better picture of wintering cows









Making and feeding hay:

and the second second second

- > Equipment overcapitalization
- > Consumption of fossil fuel
- > Export of soil nutrients
- > Equipment and labor for feeding
- > May have to haul manure







Cnangi	ng eco	nomies	5
Toput	1973	2011	% increase
Large Round Hay Baler	\$4,200	\$40,000	950%
Diesel Fuel	\$0.17 / gal	\$3.40 /gal	2000%
Farm labor	\$1.50 / hr	\$10-15 / hr	800 - 1000%
Nitrogen fertilizer	\$ 0.09 / lb	\$ 0.48 / lb	450%
Income	1973 \$ 6 00 / bale	2011 \$ 0 _ 12 / balo	50.100%
Fed cattle record highs	\$54 / cwt	\$124 / cwt	230%

Conventional finishing system: > Feed is produced > Feed is hauled > Cattle are hau Manure is hauled > Cattle are hauled again





























































Challenges to the Feedlot Finishing System

> High cost of production



"Boys, there's three ways to lose money around here...

Women's the funnest, Gamblin's the quickest, Feedin' cattle's the surest ! "





> Profitable for the producer

We can finish 2 to 2 1/2 hd/acre annually in a land that can't grow corn with a fraction of the inputs



Annual costs/acre for grazing irrigated pasture as we do it			
■ Tillage	\$0		
 Seeding 	\$0		
Machinery operation	\$0		
Equipment depreciation	\$2		
 Fertilizer 	\$8		
 Labor 	\$10		
 Irrigation 	\$30		

Annualized Capital costs for grazing irrigated pasture as we do it				
 Pivot equipment Stock water system Fence system 	\$1 \$ \$	108 (10 yr) 18 (5 yr) 8 (5 yr)		

Production per acre for three beef enterprises with 4.5 ton/acre dry matter yield

Enterprise	lb/acre		value	
 Cow-calf 	400	(\$1.61)	\$ 646	
 Stocker (custom) 	900	(\$0.45)	\$ 405	
 Stocker (owned) 	900	(\$0.94)	\$ 846	
 Pasture-finished 	750	(\$1.45)	\$1088	
(wholesale)				
Pasture-finished	750	(\$2.75)	\$2062	
(direct market)				

















